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� QRWD= D uhvrox�f�dr frpsohwd gdv shujxqwdv lqfoxl d mxvwl�fd�f�dr gr udflrf��qlr xwlol}dgr h d dsuhvhqwd�f�dr grv
f�dofxorv hihfwxdgrv1

41 Ghvfuhyd vxflqwdphqwh xpd P�dtxlqd gh Phgl�f�dr gh Frrughqdgdv gh wlsr s�ruwlfr p�ryho h phvd �{d/ uhihulqgr0vh
qrphdgdphqwh d=

0 ixq�f�dr

0 frqvwlwxlqwhv

0 ixqflrqdphqwr h surfhvvr gh dtxlvl�f�dr gh frrughqdgdv

0 fdoleud�f�dr gr sdosdgru

0 irqwhv gh huur h vxd lq�xahqfld

0 huurv sdudp�hwulfrv1

51 Irudp phglgrv/ sru phlr gh sdgu�rhv dghtxdgrv/ rv adqjxorv hqwuh rv hl{rv gr uhihuhqfldo dvvrfldgr d xpdP�dtxlqd

gh Phgl�f�dr gh Frrughqdgdv/ frqfoxlqgr0vh txh dtxhoh q�dr �h ruwrjrqdo1

+d, Ghvfuhyd xp surfhvvr gh dvvrfldu �d FPP xp uhihuhqfldo ruwrjrqdo/ rewlgr d sduwlu gr uhihuhqfldo lqlfldo gd
P�dtxlqd/ qrphdgdphqwh frqvwuxlqgr xpd pdwul} gh ruwrjrqdol}d�f�dr1

+e, Vxsrqgr txh vh rewlyhudp rv vhjxlqwhv ydoruhv sdud rv adqjxorv hqwuh hl{rv/

kR[>R\ l @ ;<�=;8> kR[>R]l @ <3�=34 h kR\>R]l @ <3�=45>

fdofxoh d glvwadqfld hqwuh rv srqwrv S4 h S5 fxmdv frrughqdgdv phglgdv shod FPP v�dr=

S4 � +43=3333> 43=3333> 3=3333,

h
S5 � +�43=3333> 53=3333>�53=3333, =

61 H{soltxh frpr �h hihfwxdgd d fruuhf�f�dr gr udlr gr sdosdgru sdud r fdvr gd phgl�f�dr gh xpd hvihud/ qrphdgdphqwh
uhihulqgr0vh dr vljql�fdgr h lpsruwadqfld gr Srqwr Olyuh1

71 Qd frqvwux�f�dr gh xp uhihuhqfldo0sh�fd irudp phglgdv shod FPP dv frrughqdgdv gh 6 srqwrv/ txh gh�qhp gxdv
duhvwdv gd sh�fd1

D duhvwd ghvljqdgd sru u4 �h gh�qlgd shorv srqwrv S4 h S5 gh frrughqdgdv

S4 � +�43=3333>�53=3333>�53=3333, >

S5 � +�8=3333>�5=3333>�43=3333, >

uhvshfwlydphqwh1

D duhvwd ghvljqdgd sru u5 �h gh�qlgd shorv srqwrv S5 h S6 fxmdv frrughqdgdv v�dr

S6 � +�5=8333>�9=3333>�43=3333, >

uhvshfwlydphqwh1

+d, Frqvwuxd xp uhihuhqfldo0sh�fd/ gh prgr txh=

0 d vxd ruljhp vhmd r srqwr gh lqwhuvhf�f�dr gdv duhvwdv u4 h u5



0 r qryr sodqr R|} vhmd r sodqr txh frqw�hp dv gxdv duhvwdv u4 h u5
0 r qryr hl{r R} vhmd gdgr shod duhvwd u41

+e, Srvwhulruphqwh irudp phglgdv dv frrughqdgdv grv srqwrv S7/ S8 h S9/ txh gh�qhp r sodqr gh xpd gdv
idfhv gd sh�fd/ whqgr0vh rewlgr=

S7 � +�4=3333>�5=3333>�5=3333, >

S8 � +�6=3333>�5=3333> 5=3333, >

S9 � +�7=3333>�5=3333>�4=3333, =

l1 Ghwhuplqh rv sduadphwurv ghvwh sodqr qr uhihuhqfldo gd P�dtxlqd gh Phgl�f�dr gh Frrughqdgdv1

ll1 Txdlv v�dr rv sduadphwurv gr sodqr uhihulgr qr uhihuhqfldo dvvrfldgr �d sh�fdB

81 Irudp phglgdv shod FPP dv frrughqdgdv gh grlv srqwrv S4 h S5 vlwxdgrv qd fdperwd gh xp prwru gh xp
qdylr/ rewhqgr0vh

{ | }

S4 �45=3333 9=3333 7=3333
S5 53=3333 �43=3333 �47=3333

+d, Vdehqgr txh S4 h S5 gh�qhp xp gladphwur gh xpd vxshui��flh hvi�hulfd gd sh�fd/ fdofxoh rv sduadphwurv ghvvd
vxshui��flh1

+e, Ghwhuplqh d lqwhuvhf�f�dr gr sodqr

u @ i8=3333> 5=3333> 4=8333> 3=;<77> 3=3333>�3=77:5j

frp d vxshui��flh hvi�hulfd dqwhulru1

+f, Vdehqgr txh rv srqwrv dqwhulruhv irudp phglgrv frp xp sdosdgru gh 7 pp gh gladphwur h txh irl rewlgr
xp srqwr olyuh

FOS � +;=4333> 55=8333> 7=3333,>

hihfwxh d uhvshfwlyd fruuhf�f�dr gh udlr vreuh d hvihud rewlgd/ mxvwl�fdqgr d vxd uhvsrvwd1


